Midterm 2 - Morning 

Consider the table below for the next three questions.

	Domestic Market of Computers

	Price 

(US$ per unit)
	Quantity demanded

(units)
	Quantity supplied

(units)

	10
	90
	0

	20
	80
	10

	30
	70
	20

	40
	60
	30

	50
	50
	40

	60
	40
	50

	70
	30
	60

	80
	20
	70

	90
	10
	80


1. If the world price in the market for computers is $30, and the government imposes a quota of 60 units, then

a. The domestic price will go up to $40.

b. The domestic price will go up to $50.

c. Nothing will change and the price will stay at $30.

d. Imports will fall from 70 to 20. 

2. Which of the following import quota limits implies a final price of $40 per unit?

a. 20 units

b. 30 units

c. 40 units

d. 50 units

3. When there is an import quota of 10 units, it must be true that the price paid by domestic consumers is

a. $20

b. $30

c. $40

d. $50

The following three questions use the graph below.













4. If the equation for the demand curve above is given by Qd = 6 - ½ P, then the elasticity of demand at Point B is? (use the point elasticity formula)

a. 1

b. 2

c. 4

d. 8

5. Which of the following statements is true?

a. Price elasticity of demand is unit elastic at the equilibrium (point A)

b. Price elasticity of demand is growing more inelastic as you move from point C to point B.

c. Price elasticity of demand is growing more inelastic as you move from point A to point B.

d. None of the above statements are true.

6. If the economy were in equilibrium at Point A and the government imposed an excise tax of $6 per unit on the producers in the graph above, which of the following statements would be true? 

a. The economic burden of the excise tax would fall more heavily on consumers.

b. The economic burden of the excise tax would fall more heavily on producers.

c. The economic burden of the excise tax would fall equally on consumers and producers. 

d. There is not enough information provided to answer this question.

Use the information in the table to answer the following question.

	
	CPI

	2005
	200

	#2006
	220

	# Your Forecast.


7. Suppose right now, your salary in 2005 is $35000 per year. If your forecast for the CPI in 2006 is correct, how much will your nominal wage need to increase by so that your purchasing power stays the same in 2006?

a. $1500

b. $2500

c. $3500

d. $4500

8. Price and revenue are positively related when __________. 

a. Demand is unit elastic.

b. The good is a normal good.

c. Demand is inelastic.

d. The good is an inferior good.

9. Which of the following best describes what an import quota is?

a. a license that gives the owner the right to export a certain quantity of a good.

b. an upper limit on the price of some good that can be imported legally.

c. a maximum amount of a good that suppliers are willing to import.

d. a maximum amount, set by the government, on the quantity of some good that can be imported. 

10. An increase in the amount of the tariff on cars causes:

a. A decrease in Producer Surplus.

b. An increase in Consumer Surplus.

c. Less cars being imported.

d. An increase in total surplus.

The next 3 questions are based on the following information:

Consider the city of Madison. Let the demand for concert tickets be described by Qd = 800 – 50P. Let the supply for concert tickets be described by Qs = 100P – 100. The government decides to impose an excise tax of $3/ticket. 

11. What is the new equilibrium net price that producers receive (this is the price they receive after the tax has been deducted)?

a. $8

b. $7

c. $6

d. $5

12. What is the change in the consumer surplus due to the imposition of the excise tax?

a. $300

b. $500

c. $700

d. $900

13. How much is the deadweight loss due to the imposition of the excise tax?

a. $ 150

b. $ 300

c. $ 450

d. $ 600

14. Which of the following statements is not true? For an open economy the imposition of an effective import quota will lead to 

a. A loss in producer surplus in the domestic market.

b. An increase in the price paid by consumers in the domestic market.

c. An increase in the price earned by suppliers in the domestic market.

d. A fall in the quantity demanded in the domestic market.
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15.  The above picture shows the indifference curves and budget line for Jennifer. If Jennifer’s income goes up, her optimal consumption changes from point A to point B.  Which of the following statements is true?
a. Milk is a normal good.
b. Cheese is an inferior good.

c. Cheese and milk are substitutes.
d. Milk is an inferior good.
16. The cross-price elasticity of demand between good 1 and good 2 is -0.5.  Goods 1 and 2 are most likely ________.

a. Substitutes.

b. Complements.

c. Inferior goods.

d. Normal goods.

17. Consider the market for chairs in a small country, Tree Kingdom.  The domestic demand curve for chairs is P = - Qd + 12, and the domestic supply curve is P = Qs + 3.  Suppose this Kingdom decides to trade in the world market and the world price is $10.  What will happen in Tree Kingdom?

a. 5 computers will be imported by Tree Kingdom.

b. 6 computers will be imported by Tree Kingdom.

c. 10 computers will be exported by Tree Kingdom.

d. 5 computers will be exported by Tree Kingdom.
Use the following information to answer the next three questions.

Consider the corn market. The demand for corn is given by P = 60-2Qd. The supply for corn is given by P = Qs.

18. Suppose that the government sets the price floor at $30. What is the surplus in the market?

a. 5 units

b. 15 units

c. 20 units

d. 30 units

19. Suppose further that the government has a storage cost equal to $2 per unit. What is the total cost from implementing the price support program?

a. $30

b. $450

c. $480

d. $500

20. Suppose that instead of implementing a support program the government decides to implement a subsidy program. What is the total cost from implementing a subsidy program where the price guaranteed by the government is set at $30?

a. $900

b. $600

c. $300

d. $0

Use the information in the table to answer the following question.
	Year
	CPI
	Real Price of Bread
	Nominal Price of bread

	2004
	100
	$1.50
	$1.50

	2005
	200
	$??
	$3.00


21. What is the real price of bread in 2005 using 2004 as the base year?

a. $1

b. $1.50

c. $3
d. $6
For the next THREE questions consider the following figure.
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22. Assume that the consumer depicted in the figure has an income of $50. The price of pencils is $2 and the price of books is $5. This consumer will choose a consumption bundle where the marginal rate of substitution is

a. 2.
b. 2/5.
c. 5.
d. 1/5.

23. Assume that the consumer depicted in the figure has an income of $100. The price of pencils is $2 and the price of books is $10. This consumer will choose to optimize by consuming

a. bundle A.

b. bundle B.

c. bundle C.

d. bundle D.
24. Assume that the consumer depicted in the figure faces prices and income such that she optimizes at point A. According to the graph, what change forces the consumer to move to point B?

a. A decrease in the income.

b. A decrease in the price of pencils.

c. An increase in income.

d. An increase in the price of pencils.

Use the following information to answer the next two questions:

Eleni has a weekly income of $200 and spends all of her income on two goods: potatoes and rice. If she spends all of her income on potatoes, she can buy 50 pounds of potatoes. If she spends all of her income on rice, she can buy 40 pounds of rice.

25. If Eleni consumes 12 pounds of rice at the optimal consumption bundle, she also consumes

a. 42 pounds of potatoes.

b. 38 pounds of potatoes.

c. 35 pounds of potatoes.

d. 22 pounds of potatoes.

26. If Eleni’s income decreases by $100 and potatoes are an inferior good for Eleni, then at the new optimal bundle the quantity of potatoes

a. Will increase.

b. Will decrease.

c. Will remain the same.

d. May increase or decrease.

27. Two countries, Country A and B consider having an international trade agreement about DVDs.  Presently, Country A imports DVDs from Country B.  The following statements are proposals for the agreement.  If the goal is to maximize the total surplus in both countries, which proposal is optimal?
a. Country A can use trade protections. Country B cannot use trade restrictions.

b. Country A cannot use trade protections. Country B can use trade restrictions.

c. Both countries can use trade restrictions.

d. Both countries cannot use trade restrictions.
28. The domestic demand for beef is Q=17-2P and supply for beef is Q=8+P. Suppose the domestic economy decides to join the world market in trading in beef. Suppose the world price of beef is $1 per unit. Which of the following is correct? The domestic economy 

a. Will import 6 units of beef.

b. Will export 6 units of beef.

c. Will find that the world price of beef decreases due to their entry into the world market.

d. Will provide more beef.
29. Consider two countries, Japan and Indonesia.  In 2004, the nominal wage per hour in Japan was $10 and in Indonesia it was $6.  During the same year the CPI for Japan was 100 while the CPI for Indonesia was 50.  Which of the following statements is correct? In 2004, 

a. The real wage in Indonesia was lower than in Japan.

b. The real wage in Indonesia was higher than in Japan.
c. The real wages in both countries were the same.

d. The nominal wages in both countries were the same.

30. If the price elasticity of demand for BMWs is 10, and their price changes by 10%, what do you expect will happen to demand?

a. The quantity demanded will change by 100%.

b. The quantity demanded will change by 10%.

c. The quantity demanded will not change.

d. The quantity demanded will change by 1%.

Answers

1c 2b 3d 4b 5b 6a 7c 8c 9d 10c 11d 12d 13a 14a 15d 16b 17d 18b 19c 20a 21b 22b 23d 24c 25c 26b(all) 27d 28a 29b 30a
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